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(Vector Algebra)

(Important Formulae and Definitions)

1. 2 et @ e P 1 S U wEfn Sn S S 0 W, A
-
a-b =ab cos 0.

2. @ afeeit & o 3 FRFEE a5 = 0.

3. i, j, k wfes wiew €, 99
AA AA AA A A A
= jj=kk=i*= 2=k =1
AN AA AAN AN AA AN
ij= ji=jk=kj=ki=ik=0

o
4. AR o AW G OF TahE T 9 I 0 R
- - A
ax b = absin O.n,
A =) :
el E WRW g A p W e e ¥

AAA

5. i,j,k wfta afew &, a9

A A A A A A

iXi= jxj=kxk=0

A AT AA A A
ixj=kjxi=—k

A A A A A A
Jxk= i,kxj=-i
A A A A A A
kxi=jixk=-j
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6. af el Fre 1 @ o Yo @ AW B &, 9 B #1 §ed

.

> ‘ - = -
9. 9 Feufermmn &, W= |F| d|cos0=F

- -
10. I6 FRAGH = rx F

11. < wfewi &1 9m
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13. fawem fag &1 feafa afswn: |
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A A zz
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a -. a . as
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-+ cos o =
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e e
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A A A
7—?+_’;+k b—2:—71 32—2 %i+%]——15k
) 7=?+/]\'+l/«:
__)
lal= \/a +ad +a2 = VP +12 +12
= /3. I
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:
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=
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- A A A
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A A A A A A
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= -3i+0.j+3k=-3i + 3%. I
wv 16. @ Rrgait P2, 3, 4) 3R 04, 1, - 2) T Fre™ et wieer @1 wew g A FRNT)
A A A
ot : Pt ety AR, Op = 2 + 3 + 4k

B fefa R, 00 = 4i4+j-2k
IR -5 o
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